R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-596.dwg, TX-596

0

TRINITY GLASS
INTERNATIONAL

30 X 68
GLAZED PREMIUM FIBERGLASS

SINGLE DOOR WITH SIDELITES (CHS)

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

i

2,

Anchors shall be as listed and spaced as shown in the details. Anchor embedment

to base material shall be beyond wall dressing or stucco.

When used in wind borne debris regions, the opaque door panel has been tested

and evaluated as an impact resistant product and does not require the use of an
approved impact resistant covering. The sidelite must be protected with an impact
resistant covering that complies with Sections R301.2.1.2 and 1609.1.2. This opaque
door meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design

pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

pu—

Typical elevations, design pressures & general notes

Door panel construction details & glazing details

Sidelite panel construction details & glazing details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Frame anchoring

Components

V|0V A |WIN

Bill of materials

67.50" MAX. O.A. FRAME WIDTH

2-%.z0

81.88" MAX. FRAME HEIGHT

X

/
Va

/
a

O
O

O

CONTINUOUS HEADER AND SILL

INSWING

67.50" x 81.88"

OUTSWING

67.50" x 80.75"

G1

+55.0

-55.0

+55.0

-55.0

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

7/23/09 |TDI PRODUCT EVALUATION UPDATE| AL
6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

2/12/20 |UPDATE TO 2018 IBC/IRC

1

NOJ| DATE

M|

REVISIONS

DATE: 8,/26,/05

SCALE:  N.T.S.

DWG. BY: EW

CHK. BY: LFS

DRAWING NO.:
TX-596

SHEeET 1 oF 9

© 2009 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ aNIaTing "M'd 6002

ZSBLL—d # NOWWVMLSIOSN 40 3LvOIdILN3D SNOISIATY

SYIINIONI ﬁ<zo_wwmuomn_ 40 Quvos SvxalL m@%&ﬁmmmm%odm&w &mmw\%maa A8 31v3 [ON| | . - 9_
T —— . M3 | JINIVIONINON 13SMO0T_Q3SIA3Y| 90/82/9 | L | Q| = Lot

GBSEE 4 OOMUIDA 0SZ Xog .O.n_\ﬁ\Mv "A18W3SSY d0 Ldvd | 7y | 31vadn NOILYNIVAT 10Naodd 101| 60/sz2/L | Z | © M L0 |°

ONI BINVITASHES SHIEANE g. S41 OdI/08I 8102 0L 31vadn| oz/zi/z| € || =] | |2 ) 2_

SSVI1943814 31dIT WNINFSd L¢] LlEle =

SZLPOL# "3'd SvXaL TANI SSY19 ALINIEL i m e m
‘3°'d ‘IPIWYDS ‘4 UOpuAT :Ag peJpde.d sjuewnooq 119NA0Yd SI81E15 m =

0 =
(@]
= 3 =
—_
= O
b
: a3
| o
-
x S
: &
: T
m £Z&
e
O
O
o
% — =)
O = = 1‘|=N_..O
w =
= | —e—]
& i — BT f— g < v 3 3 0 S
ity 3t w & |
> AN — = O Tw M w
- [ T 2 ¥ p3a 03 .
L7 " O M S0 < =0 W90
/@ H M |hv. / :N.V.O'l' [~
M perat e + m N
ol W i A =
Q ; (V]
m ‘l..om._.lv ¥ e “ m
w » V“V\i\ \‘..‘\ 0 m
= = dr e <
0 * s “ W R s —
A\ 2 | | | s 3
A\ o n A —
= i N o
©) ol L | *
& o - .
m = m e A |
\\ o — WL10 ~
m = Hﬂ I+MH M
o x P ( )
+ M N\ A} /
7 —|CN s m " 4 . 7 B
Mn.w m :m@ m | :Om.wm.—— | \ﬂ..V®‘
i ﬂ 3) SL91
R e -
/@ | 0 W
mw 06° R p——

\oo/

™~
S (4

]

35.75" MAX
PANEL WIDTH
D

EVC STILE CAP

A4
/
///
/
@ PREMIUM LIPLITE FIBERGLASS DOOR

‘O Td 'XVW.00'€9 _

21.00"
MAX. D.L.O.

LHOIFH 1INV XYW .S 6.

2 'BMp96S-X1\D8I 8102 ZL2-da\sbuimeld - D\ZL2-4@\su| J0 1daQ sexaL - G\LNINVINYId sse|9 Alun1\siualD\y



"ON| SINVLINSNOJD 9NIgIing "M'sd 6002 @

ZS8LL—4 # NOLLWMLSIOZY 40 3LVOIHILLNID SNOISINIY
SYIINIONI TVNOISSIJ08d 40 a¥vos Svxal %%Mgo.w@ Hmawwqwmmv% mmmw_«w%m Ad 31vd [ON| | | n 9_
T ——— M3 | FYNLYIONIWON 13SM00T a3sin3d| 9o0/8z/9 | | m %) _W Ll 9.
S6SEE 14 OOUIPA 0SZ Xog ‘O'd \§ "ATBW3SSY d0 Ldvd | 7v [31vadn NOILYNIVAT 10NnAodd 1dL| 60/cz/L. | Z | ol .88
‘oNI 'SINVIINSNOD ONIGINg g. S41 03¥1/08dl 810¢ 0L 31vadn| oz/zi1/z] € ﬂ = B g vr 3_,
SSY1943414 31NdIT WNINISd Y BlE|le
cZLYOL# "3'd Svx3al ls..:/: SSY19 ALINIML i M 6|y = m
*3'd ‘IPIWYDS ‘4 uopuii :Ag pedpdedd sjuswnooq 110NA0Yd W S W m m %
02812,
. .(.{.().;,uu. ¢
g3 WOl
Sogiss
Sy J
Gerrerdovnenes ZAALU TN
2 LAIWHOS 4 NOONAT &
A O )
¥ -, S8 * &
e | Y W
¢ Ve PIOES AR r& NS
QIR g N
a4 40 23°
e

//
/4

NAWN
2L

G1
EXTERIOR
/" 2"\ VERTICAL CROSS SECTION

1 =
@ ) J :@O._. _ M
’ L a 2 ; W
5 g w m m E
- “ < o o @
2 $: g * S
W o w M i = =
v X & — v el a. m
0 o o 3 = 2
9 nNu < ~90< -0 + &
3 ~N
= o
G - ®
4 Y 2
\\ S 7 <
S = :
o an yd o
oz
9 o L 7 \\\_% 2
B o= M y s /‘vs N
m .M P + \_%N\\\*\\N\ o M
A\ 2 = @ — 95— N
\\ o a ”M
— (] < « =
G H G M z f 1 ﬂ
ﬂv » 2 2
—|™ ’ o — P “

D
‘OTA XVYW.00'E?

6.84"
MAX.D.L.O.

13.88" MAX.
PANEL WIDTH

IHOEH TANVd XYW .S 6.

@ PREMIUM LIPLITE FIBERGLASS SIDELITE

€ 'Bmp'965-X1\08l 810T zlg-ya\sBumelq - D\zLz-ya\sul 4o 1daq sexaL - G\LNINVNYId sse|D AlulL\sjudlD\y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-596.dwg, 4

NOTE:

Sidelite ass'y fastener: 6" from each
end and 4 more screws equally spaced
between (6 screws total per jamb).

SEE
NOTE 1

/

BN SIILILL LI 780 10001111111, T3
‘ QAW

‘\‘\\\‘\\\ AN
LA

/1111
¥

L

/" 1"\ HORIZONTAL CROSS SECTION
W Outswing shown
Inswing also approved

m HORIZONTAL CROSS SECTION

NA/

Outswing shown
Inswing also approved

A

S

< q
/ / /
Va VA Vi
X o /2 | Locxr.:v \---..--v,-.,--740 - 21
@ < ol[\4/ KWIKSET | peapsorr: 780 22
@/ sy | IOGR COMBO 660 | 21
/ y / DEADBOLT: COMBO 660 | 22
/ / ; LOCK:  MAX.SECURITY | 21
/// //// /4/ / SCHLAGE | 1 A DBOLT: MAX. SECURITY | 22
< q
2 3 4 2 4
5 5 5 /3 /3
7 SEE
INTERIOR 12 NOTE 1 INTERIOR
4
- /5 :\
\\\\ / \
EXTERIOR EXTERIOR (62)
%) (89 sez (8)

NOTE 1

\ EXT. SHEATHING

m HORIZONTAL CROSS SECTION

W Outswing shown
Inswing also approved

ui
aR
s 0
Bo o
Er n u w0
£ % Ll
Z
o : M o
ot L
Ll:ﬂ. = .B e
5% g’da i
[+ .
2u <§°’ 55
g!— F T =
> Jg®© 0
235 "’é
Zow g
3 oM o
o ON = i
] (4
o O Xz w
z 0 [
2 500 OF
o s
a 256 O
o 50¢ %E
o moo 86
: = G
§ 43
E Wo
0
[o]
(a]
%)
7 S
a | B
0 L
=l 2
e 17)
Qu |.. ©
S= 3] X
o3 |H ©
o om
= p={ |
D o <
= 0l =
Zs |g| =
x> | O
ERFS | N
o o
W |o
a| x S
ol & |[gl T
& <
o o
0nlul=
5<m5
L |
’:(cc
=)
Q_I-
3|3
olz|2
‘lfo§
SEIB] v
mBZ pd
- (@)
—~ bt
m%l_u %)
~— U) o
o X >
N|=|O Ll
=ISe] &
Hg"
)
el [ I
<| |
glalm
S|P |
olo|w
N IO |O
NI
N M ||
NN
hr\co
—lo
MmN |5
DATE: 8,/26,/05
Scate:  N.T.S.
DWG. BY: EW
CHK. BY: LFS
DRAWING NO.:
TX—-596

SHEET _4 oF _9

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "M'sd 6002z @

SERINIoNS TVNOSCRtea o v S 18 i 3Iva_[ON
O¥d 40 Q¥vo8 Svx3l ) 7S]
IRLESHE L POl Budug RIEEEEE mm.omo i M3 | FINLVIONIWON 13SMO0T 03SIA3H| 90/82/9 | L | Q| = vy © nw‘
S6SEE 14 OOWIDA OSZ Xo8 ‘O'd \Sv "A18W3SSY_¥0 1dvd | v [31vddn NOILVYNIVAI 10Ndo¥d Idl|60/s2/z | 2 |<o|=| |~ |. B |6
“ONI *SINVLINSNOO ONICTINg @. S41 0d1/28al 810z 0L 31vadn| oz/zi/z]| € ﬂ < 2 v_A 5_,
SSY1943414_3L11dIT WNINFYd O l&|s|eF
nNr*Or* ‘3'd SvX3lL d..hs/: WMSO ALINIYL i = o | = m
‘3'd ‘PlWYyss ‘4 COU:\AJ u\nm HOLOQOL& sjuswinoog ._..ODOON_n_ W m W m m %

QN.M\,.N
> K590 0,

INTERIOR

\

7

o WOOD
o CONCRETE

EXTERIOR

w Inswing configuration

INTERIOR

/" 2"\ VERTICAL CROSS SECTION

\y Outswing configuration

%A

EXTERIOR

(W)
5
DR
o ¥
QO ©
2 0

DRYWALL

| ———

= S

7

INTERIOR

12
INTERIOR

W
7“1\ VERTICAL CROSS SECTION

\y Outswing shown
Inswing also approved
\

7“3\ VERTICAL CROSS SECTION

W Outswing configuration

EXTERIOR
EXTERIOR

—~—
EXT. SHEATHING \

S '6MP'96S-XL\DgI 8L0Z ZL2-ya\sBuimeiq - D\zLz-ya\sul 40 1daq sexal - G\LNINVINYId SSe|D Anuu\sualD\y



"ON| SLNVLINSNOJ 9NIaing "M'se 6002 @

2S8LL—4 # NOLLVYLSIOZY 40 ALvOIdILNED 5 SNOISIAFY
SYIIANIONT TVNOISS3H0¥d 40 au¥vog Svxal 31va [ON
SNOILD3S SS V. o) I o)
SENEeRe TR N sy i M3 | 3INLYIONIWON_L3SM007_a3SIA3y| 90/82/9 | L |Q|V|F 2| o© r_
S6SEE "4 OOMIDA 0SZ X08 ‘O'd \S,@ ‘KIBW3SSY_80 19vd [ v [31vadn NOLVNIvAI 1ondodd 1dL] 60/cz/2 | 2 |ol=| |~ |. B | &
“ONI ‘SINVLINSNOO ONIliNg S41 2d1/081 810z 01 3Lvadn| 0z/zi/z]| ¢ ﬁ = 2 v_A 6_
SSY1943814 3LdIT WNINTHd @ SlEle m
SZIYOL# ‘3'd Svxal T.LNI SSY19 \EZEHI i = R N L
‘A'd IPIWYDS °4 uopuki :Ag pedpdeud sjuewnooq 10Na0Yd W. m |z W M
°2gsz

WOOD

0 CONCRETE

INTERIOR

=
)
_
(®)
N1 |
)
%)
%)
o]
o
QO
— = =
L <=
S 2 5 ® 2o
= wn Z O <
O o O — =<
ac W Q< W w EW
! @ A 15 >
b m <
77 =E
-l | =
S o S| o
~ Q\.\\\\‘.\\\*&.\\\\\\\\\\\ 7 P’b mu o
S5 o
OR
o O
5 ® ’
SO
L
£
O
%8 g
55:
o=L
O G
g
O c
£BS
mlom
. O
O O g <
Z wn .20

1.

0 WOOD
0 CONCRETE

/ DRYWALL
(25)

= mKu ey mNu ,..‘c..é,,..,é__..;:,..,,v
Hoz =IO 1 S
Zl O = o
[ = =
/ O = (@)
o
%] %]
z O S \\\& Q5
(+"4 \\\\\\\.\\\\\\\\\\\\\\\\\\.\\3__ o< W=
(&) — QO
| - =
—— e e < <| &
= =—— O /.m Ol
= =
\ > ac| o
w (a4
\ ol > O S 3
@ @@ & : ®
~0 274 Ly
: ; 5 () 5 @ e
= w = L
5 50
T Z
w
—
>
(A N)

9 'BmMp965-X1\D81 8102 2Lz-¥a\sBuimelq - D\zLz-ya\sul 40 3daq sexaL - S\LNINVINYI SSB|D AWUL\sIualID\Y



"ON| SLNVLINSNOJ aNiaiing

‘MY 6002 Q

2SBLL—d # NOLLWLSIOFN 40 3LVOIdILN3O = SNOISIAZY 3Iva TON
SHAENIONS NOISSIOR =0 aEvos INEHOHONY SVl M3 | FYNLYIONIWON 13SY007 A3SIA3Y| 90/82/9 | | S b= © 9_
-6GQ* . d i w
cesee \..Mmommwu\mrwnuouom c.wc.u \§ AT8W3SSY ¥0 Ldvd | 7V [ 31vadN NOLLYNIYAI 10NA0dd 1dl| 60/cz/L | 2 o _m . R8s
A ETSES BN @ S Odl/98l 810z 0l 31vadn|oz/ei/e| € |\|=| | |2 L L
SSYI1943814 310dIT WNINISd © g &|l&m|ghk
CZIHOL# 3'd Svxal TANISSVIO ALNIEL HEAEIME &
‘3°'d ‘IPIWYDS ‘4 uOopuk :Ag pedodeuad sjuewnooq 119N00Yd SI81215|2 &
ON .N..\ aN
oD
@ =
\ i}
<
o O | W.
0¥ g —A =
ey =
- \*\ .................. (\l\lh\‘l.l\ / w
M G AR ~
rnane “ “ m
“ - :
R =
<
o
5
\\
@/ N
———— «Q
V/ﬂo/ﬁj py
=
e = T ____ S
wE ﬁ ('dAL _ M [dA) D0 Q\ \
W9 XYW . L \
$ \\
— | | l | } =
- H L vE
— <E " r
< &
<3 | —1| £ \\
- S RGN
— <
\%\l Ol V/%l’ﬂl) <
L = o m (o] W
i} T E &= g sere u
@ Lt £ 9l8 =T __5 S
s 8 & 5 (B
L= © & - 35 \
o = = O dg w5 A\
o= > 2
3 OSSN \ %
(NN N,
= i
~E = CHES
o™
— — —
= = /N
Fet—= 3
@
— | _ _ ! _ | — 0 0
= =
AY
: < KW,
0% ™N e %
Zz L
St Q o= g @ m
<5 < o <59
@O b lal:s 2SS
> @ = =S
N [ <€ m >.
x =zo & ®
25 =
269 &
SxQ = 87 7 1““ Q
0= -~ ‘o je w
& Z [ H o
Q0 =
o X&) 11 1 =
|
|5
=
z o e/
=
(*e %) (e ® o) *e%) | :M... @ m
i KK KK o
‘\ l/\\ x
. ‘dAL'D'O o~
wo— L8 XYW, L€ w0 2
o= o Z =
z< TA
Tlo
w 0
(NN}
w

L 'Bmp965-X1\081 8102 2Lz-ya\sBuimeiq - D\zLz-ya\su| 4o 1daq sexal - S\LNINVINYId SSe|D Auu\s1ualdD\y



‘ON| SLNVLINSNDOJ 9aNIaing "M"'sy 6002 Q.

ZS8LL—4 # NOLVAULSIOFY 40 ILVOIAILNID e SNOISIASY
* SYIINIONA IYNOISSIAH0¥d 40 Quvod SvxXil J1vd [ON
SININOdW vl . o))
P — . 09 M3 | F¥NIYIONIWON 13SMO07 d3SIAIY| 90/82/9 | | m ) W iy © r_
SESEE 14 OOMIDA 0SZ X0F ‘0°d \Su@. ATBW3SSY ¥0 1dvd | v | 31vadn NOWYNTYAI 10Ndo¥d 1aL|60/cz/2 | 2 |<o|=| |7 |. & | 6
Som SEmpeT e s 59 odl/28l 810z 0L 3ivadn| 0z/zt/z| ¢ || = g %
SSVI1943814 31dIT WNIW3Sd 00 SlEle F
CZLPOL# ‘3'd SvXaL 1INl SSY19 ALINIML il = I N [}
‘3'd “IPIWYDS 4 uopuii :Ag pedpde.sd sjuswnoo(q :10NA0dd W m W W W M
:Om._.l_ll|4
o : ik __WN.
(7]
s
b~
5 g iy == © 5
€ g “..u Q
G 4 & =
x T
= -
. [T9]
o~ 2 m
:@N.O [
7 : 3
<
z — :m ._. -
IO— N & £
—_— [o]
&5
* =5
&0
T i
I <
5 2 o &
= & e
ey o S z 2
] M ] 80°0 5|0
o n
- m I o = 7‘1 ___.m.o
T3
S
=
2
2
1
= =
| O,
_ WELl'T °
W99 — .
) Q |VA AN B
2 (o] o
2 - L
% O
| : B :
[-
- = =(o
~ = 2 800 s
» I 2 = £ az
- 2 F D2 ES
< S
5 : 3
(%)
— £957 = @
=|_
Qo2
— =8
« [, i S5 A
= o =0
= = (=3
S o O O S @
— (9]
\ o)
» - )1
== _.Rm._. T
|
007
q s &
. o S =
I wl i
(@) O i <5 =
x|.2
: 5 =e 2
S @) O . & . 9 5
T ] N = 0 S5 a
% =2 o) = ~ =3 ac
| B = 3 g B2 2
A U ot @ = o= a
¢
(=) ® O,
L TI :_..O

8 'BMP96S-X1\D8I 8102 ZL2-da\sbuimeld - D\zLz-ya\su| jo 1daq sexaL - G\LNINVINYId Sse|D b_ct._./mucm__‘u/nm



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-596.dwg, 9

ui
o g
¥ [7)
we  Zah ML
§5 2 2,
57 E58 pg
TERYT
@ SN oy
POZ3) by
BILL OF MATERIALS 2 265 g
ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL o nre §6
A | 2X HEADER FRAMING SG >= 0.42 WOOD 27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. % § E
B | 2X FRAMING SG >=0.42 WOOD 30 | LATCH STILE - SG >=0.42 LVL/PVC E g g%
G | MAX. 1/4" SHIM SPACE WOOD 31 | LVLLOCK BLOCK POPLAR §
J | #10 X 3"PFH WS STEEL 32 | HINGE STILE - SG >=0.42 LVL/PVC
K | #9 X 2" PFH WS STEEL 33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC 0
P |3/16"X 2-3/4"ELCO OR ITW PFH CONCRETE SCREW STEEL 34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC A
1 | SIDELITE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOOD 39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS Eé:j Q
4 | HEAD - FINGER-JOINT PINE - SG >= 0.42 WOOD 40 | #8 X 1-1/8" SELF THREADING SCREW STEEL ;E E
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM 42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL gE " '§
6 | DOOR BOTTOM SWEEP PVC 44 | HOT MELT SEALANT / SILICONE - wn:_ = N
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 45 | LITE FRAME PC/ASA [ ; o
8 | #6 X 1-1/4" PFH DRYWALL SCREW STEEL 46 | FOAM CORE POLYURETHANE . QZ:S 2 g
9 | #9 X2-1/4" PFH WOOD SCREW STEEL 60 | SIDELITE SPACER - OUTSWING PVC E:-g "E S
12 | WEATHER STRIP QEBD450 Q-LON = 61 | SIDELITE SPACER - INSWING PVC a & £
18 |3.983" X 4.0" HINGE MIN 0.098" THICK STEEL 62 | QUARTER ROUND WOOD o &
19 | SILLKEY PC/ASA 63 | #8 X 2-1/4" PFH SCREW STEEL vla|z =
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 64 | #8 X 2" PFH SCREW STEEL e I
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 66 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - E EDL:J
23 | STRIKE PLATE STEEL 67 | INTEGRAL MULLION - FINGER JOINT PINE (SG >= 0.42) WOOD g g
23A | DEADBOLT PLATE STEEL 69 | MULLION BASE KIT PC/ASA ol=|2
24 | #9 X 5/8" PFH SCREW STEEL 73 | LVL SIDELITE TOP RAIL (FULL LITE) POPLAR % 2 %J s
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. | 74 | LVL SIDELITE BOTTOM RAIL (FULL LITE) POPLAR @ § = %
26 | #9 X 1" PFH SCREW STEEL 75 | LVL SIDELITE STILE (FULL LITE) POPLAR oo % UE) 7
Salg| @
CONCRETE ANCHOR NOTES: P32
. Concrete anchor Iocaﬁor')s'at the corners may be adjusted to maintain the min. E x|
edge distance to mortar joints. aSl_|[S
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 52l
maintain the min. edge distance fo mortar joints, additional concrete anchors oo |
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. S% g Lt
S
oJ[-JS
— DATE: 8,/26,/05
IT\.IrVA?,léII(.;); é 1/4" 1-3/4" 2" 4" scAle:  N.T.S.
ELCO R . i DWG. BY: EW
uLTRACON® | /4 1-3/4 L 4 ok o LFS
WOOD SCREW INSTALLATION NOTES: S
TX-596

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

SHEET 9 oF 9

© 2009 R.W. BUILDING CONSULTANTS INC.



